

Available online at http://scik.org J. Math. Comput. Sci. 9 (2019), No. 4, 385-401 https://doi.org/10.28919/jmcs/4078 ISSN: 1927-5307

FIXED POINT THEOREMS AND PARTIAL METRIC SPACES

RUIDONG WANG, CHAO MA*

College of Science, Tianjin University of Technology, Tianjin 300384, China

Copyright © 2019 the authors. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

Abstract. In this paper, we give some fixed point theorems for generalized cyclic contraction and generalized φ -weak contraction in partial metric spaces, which improve the results of S. Romaguera in [1], M. Abbas in [2] and T. Abdeljiawad in [5].

Keywords: cyclic contraction mapping; generalized φ -weak contraction; *PMS*; fixed point.

2010 AMS Subject Classification: 54H25, 47H10.

1. INTRODUCTION

In 1992, the notion of partial metric space was introduced by Matthews [7] as a part of the study of denotational semantics of dataflow networks. Henceforward, many authors made efforts to study various fixed point theorems and obtained a lot of perfect results. Ravi P Agarwal [10] proved some fixed point results for generalized cyclic contraction on partial metric spaces. Mădălina and Ioan [3] proved a Maia type fixed point theorem for cyclic φ -contraction, which extended the results of W.A. Kirk [9]. Z. Qingnian and S. Yisheng [12] proved fixed point results for single-valued hybrid generalized φ -weak contractions. Very recently, many new fixed point results were established by Yi Zhang, Jiang Zhu [8] and L.N. Mishra [11], etc.

^{*}Corresponding author

E-mail address: machaonick@163.com

Received March 29, 2019

RUIDONG WANG, CHAO MA

In this paper, we shall give some fixed point theorems for generalized cyclic contraction and generalized φ -weak contraction in partial metric spaces, which improve the results of S. Romaguera in [1], M. Abbas in [2] and T. Abdeljiawad in [5].

2. PRELIMINARIES

First, we shall introduce some essential definitions and lemmas.

Definition 2.1([1,2]) Suppose that the set *X* is nonempty. We call (X, p) a *PMS* (*the abbreviation of partial metric space*) if a function *p* maps $X \times X$ into nonnegative number and satisfies: $(T_1) x = y$ *iff* p(x,x) = p(x,y) = p(y,y), $(T_2) p(x,x) \le p(x,y)$, $(T_3) p(x,y) = p(y,x)$, and $(T_4) p(x,y) \le p(x,z) + p(z,y) - p(z,z)$, $\forall x, y, z \in X$.

Now let (X, p) be a *PMS*, the mapping p^s maps $X \times X$ into nonnegative number, and

$$p^{s}(x,y) = 2p(x,y) - p(x,x) - p(y,y).$$

We can verify the fact that (X, p^s) is a metric space. In addition, we can define the open ball on (X, p) denoted by $B(x, \varepsilon) = \{z \in X : p(x, z) < \varepsilon + p(x, x)\}$, where $x \in X$, $\varepsilon > 0$. Meanwhile, we also use these open balls to form a base for T_0 -topology τ .

Definition 2.2([1,2]) Suppose that (X, p) is a *PMS*, and $\{x_n\} \subset (X, p)$. Then

- (1) $\{x_n\}$ converges to $x \in X$ iff $\lim_{n \to \infty} p(x_n, x) = p(x, x)$.
- (2) $\{x_n\}$ is called Cauchy sequence iff $\lim_{n,m\to\infty} p(x_n,x_m) = \xi \ (0 \le \xi < \infty).$

(3) (X, p) is called complete if any Cauchy sequence $\{x_n\}$ converges w.r.t τ to $x \in X$ and $\lim_{n,m\to\infty} p(x_n, x_m) = p(x, x).$ (*Remark 1*([4]): $\lim_{n\to\infty} p(x_n, x) = p(x, x) = 0 \implies \lim_{n\to\infty} p(x_n, y) = p(x, y), y \in X.$)

Lemma 2.3([1]) Let (X, p) be a *PMS*, and $\{x_n\} \subset (X, p)$. Then

(1) $\{x_n\}$ is a Cauchy sequence in (X, p) iff it is a Cauchy sequence in (X, p^s) .

(2) A *PMS* (X, p) is complete iff (X, p^s) is complete. Moreover,

$$\lim_{n \to \infty} p^{s}(x, x_{n}) = 0 \iff p(x, x) = \lim_{n \to \infty} p(x, x_{n}) = \lim_{n, m \to \infty} p(x_{n}, x_{m})$$

Definition 2.4([3]) Let X_i be nonempty set, i = 1, 2, ..., m, and $X = \bigcup_{i=1}^m X_i$. X is called a cyclic representation of X w.r.t. f if there exists a self-map f on X satisfying $f(X_1) \subset X_2, ..., f(X_{m-1}) \subset X_m$, and $f(X_m) \subset X_1$.

Definition 2.5([6]) Assume that the set X is nonempty and $H, G : X \to X$. If w = Hx = Gx, $x, w \in X$, then x, w are called a coincidence point of H and G and a point of coincidence of H and G, respectively. Moreover, H, G are weakly compatible if HGx = GHx, whenever Hx = Gx.

Definition 2.6 To simplify notation, we shall introduce some abbreviations:

(1) we denote by Λ all upper semicontinuous from the right function (or u.s.r.f) if any $\phi \in \Lambda$ maps nonnegative real number into nonnegative real number with $\phi(t) < t$ for t > 0.

(2) we denote by Δ all continuous function if any $\phi \in \Delta$ maps nonnegative real number into nonnegative real number with $\phi(t) < t$ for t > 0.

(3) we denote by Θ all lower semi-continuous function if any $\varphi \in \Lambda$ maps positive real number into positive real number with $\varphi(0) = 0$.

(4) we denote by by N and ω the set of all positive integer numbers and the set of all nonnegative integer numbers, respectively.

3. MAIN RESULTS

Part 1. Fixed point theorem for generalized cyclic contraction in partial metric spaces

To obtain fixed point theorem for generalized cyclic contraction in partial metric spaces, we shall firstly prove the following result by improving the Theorem 3 of S. Romaguera [1].

Theorem 3.1 If (X, p) is complete *PMS*, $\lambda \in [0, \frac{1}{2}]$, $\phi \in \Lambda$ and $f: X \to X$ satisfies:

$$p(fx, fy) \le \phi(\max\{p(x, y), p(fx, x), p(fy, y), \lambda p(x, fy) + (1 - \lambda)p(fx, y)\}), \quad \forall x, y \in X,$$

then *f* has a unique fixed point $z \in X$. Moreover, p(z,z) = 0.

Proof To simplify notation, we define

$$M(x,y) = \max\{p(x,y), p(fx,x), p(fy,y), \lambda p(x,fy) + (1-\lambda)p(fx,y)\}.$$

First, let us construct $\{x_n\} \subset X$. Assume that $x_0 = x$ and $x_n = f^n x_0$, $\forall x \in X, n \in \omega$. If $f^n x = f^{n+1}x$ for some $n \in \omega$, then $f^n x$ is a fixed point of f, and $f^n x$'s uniqueness follows as in the last part.

So, suppose that $f^n x \neq f^{n+1} x$, $\forall n \in \omega$.

Next, we shall prove that $\lim_{n \to \infty} p(x_n, x_{n+1}) = 0.$

We define

$$r^{Mn} = M(x_n, x_{n+1}), \quad r^{Mnm} = M(x_{n_k}, x_{m_k}), \quad r^n_{ij} = p(x_{n+i}, x_{n+j}),$$
$$r^{nmk}_{ij} = p(x_{n_k+i}, x_{m_k+j}), \quad r^{nk}_{ij} = p(x_{n_k+i}, x_{n_k+j}), \quad r^{mk}_{ij} = p(x_{m_k+i}, x_{m_k+j})$$

where $i, j \in \{-1, 0, 1, 2\}$.

For all $n \in \omega$, since

$$p(x_{n+1}, x_{n+2}) = p(fx_n, fx_{n+1}) \le \phi(M(x_n, x_{n+1})) < M(x_n, x_{n+1})$$
(1)

where $M(x_n, x_{n+1}) = \max\{r_{01}^n, r_{12}^n, \lambda r_{02}^n + (1-\lambda)r_{11}^n\}.$

(*a*) If $r^{Mn} = r_{01}^n$, by (1) we have

$$r_{12}^n < r^{Mn} = r_{01}^n$$
.

(*b*) If $r^{Mn} = r_{12}^n$, by (1) we have

$$r_{12}^n < r^{Mn} = r_{12}^n$$

which is contradictive.

(c) If
$$r^{Mn} = \lambda r_{02}^n + (1 - \lambda) r_{11}^n$$
,

since

$$\begin{aligned} \lambda r_{02}^{n} + (1-\lambda)r_{11}^{n} &\leq \lambda (r_{01}^{n} + r_{12}^{n} - r_{11}^{n}) + (1-\lambda)r_{11}^{n} \\ &= \lambda (r_{01}^{n} + r_{12}^{n}) + (1-2\lambda)r_{11}^{n} \\ &\leq \lambda (r_{01}^{n} + r_{12}^{n}) + (1-2\lambda)r_{01}^{n} \\ &= \lambda r_{12}^{n} + (1-\lambda)r_{01}^{n} \end{aligned}$$
(2)

by (1)(2) we obtain that

$$r_{12}^n < r^{Mn} = \lambda r_{02}^n + (1 - \lambda) r_{11}^n \le \lambda r_{12}^n + (1 - \lambda) r_{01}^n$$

i.e.

$$r_{12}^n < \lambda r_{12}^n + (1 - \lambda) r_{01}^n$$

i.e.

$$r_{12}^n < r_{01}^n$$
.

Then by above (a)(b)(c), we claim that $r_{12}^n < r_{01}^n$, $\forall n \in \omega$, and $\lim_{n \to \infty} p(x_n, x_{n+1}) = r_0$, where r_0 is a constant.

Now by (1)(2) and taking limit of the inequality:

$$\begin{aligned} r_{12}^n &\leq \phi(r^{Mn})) < r^{Mn} &= \max\{r_{01}^n, r_{12}^n, \lambda r_{02}^n + (1-\lambda)r_{11}^n\} \\ &\leq \max\{r_{01}^n, r_{12}^n, \lambda r_{12}^n + (1-\lambda)r_{01}^n\} \end{aligned}$$

so we have

$$r_0 = \lim_{n \to \infty} \phi(r^{Mn}) = \lim_{n \to \infty} r^{Mn}$$

Since $r^{Mn} \ge r_0$ for all $n \in \omega$ and ϕ is u.s.r.f., we obtain that

$$r_0 = \lim_{n \to \infty} \phi(r^{Mn}) = \limsup_{n \to \infty} \phi(r^{Mn}) \le \phi(r_0).$$

So, $r_0 = 0$ and $\lim_{n \to \infty} p(x_n, x_{n+1}) = 0$

Consequently, for any subsequence $\{x_{n_k}\}$ of $\{x_n\}$, we have $\lim_{k\to\infty} r_{01}^{nk} = 0$, and by (T_4) , $\lim_{k\to\infty} r_{0q}^{nk} = 0$ for any $q \in N$.

Next, let us prove that $\lim_{n,m\to\infty} p(x_n,x_m) = 0.$

Now suppose the contradiction, then for sequence $(n_k)_{k\in N}$, $(m_k)_{k\in N} \subset N$ with $m_k > n_k \ge k_0$, there exist $\varepsilon > 0$, $k_0 \in N$ such that $r_{00}^{nmk} \ge \varepsilon$, $\forall k \in N$.

Since $\lim_{n\to\infty} r_{01}^n = 0$, w.l.g., we suppose that $r_{0-1}^{nmk} < \varepsilon$ and $r_{10}^{nmk} < \varepsilon$ for $m_k > n_k \ge k_0$ and $k \in N$, so for all $k \in N$, We have

$$\varepsilon \le r_{00}^{nmk} \le r_{0-1}^{nmk} + r_{-10}^{mk} < \varepsilon + r_{-10}^{mk}$$

hence $\lim_{k\to\infty} r_{00}^{nmk} = \varepsilon$. Since

$$\lim_{k \to \infty} [\lambda r_{01}^{nmk} + (1 - \lambda) r_{10}^{nmk}] \leq \lim_{k \to \infty} [\lambda (r_{01}^{nk} + r_{10}^{nmk} + r_{01}^{mk}) + (1 - \lambda) r_{10}^{nmk}] \\
= \lim_{k \to \infty} [\lambda (r_{01}^{nk} + r_{01}^{mk}) + r_{10}^{nmk}] \\
< \varepsilon \qquad (3)$$

and by (3) we have

$$\begin{split} \varepsilon &= \lim_{k \to \infty} r_{00}^{nmk} \leq \lim_{k \to \infty} r^{Mnm} \\ &= \lim_{k \to \infty} \max\{r_{00}^{nmk}, r_{10}^{nk}, r_{10}^{mk}, \lambda r_{01}^{nmk} + (1-\lambda)r_{10}^{nmk}\} \\ &< \max\{\varepsilon, 0, 0, \varepsilon\} = \varepsilon. \end{split}$$

Hence $\lim_{k\to\infty} r^{Mnm} = \varepsilon$.

Since $r^{Mnm} \ge \varepsilon$ for all $k \in N$, and ϕ is u.s.r.f., we have

$$\limsup_{k\to\infty}\phi(r^{Mnm})\leq\phi(\varepsilon).$$

at the same time, for all $k \in N$, we have

$$\varepsilon \leq r_{00}^{nmk} \leq r_{01}^{nk} + r_{11}^{nmk} + r_{10}^{mk}$$
$$\leq r_{01}^{nk} + \phi(r^{Mnm}) + r_{10}^{mk}$$

$$\varepsilon \leq \limsup_{k \to \infty} \phi(r^{Mnm}) \leq \phi(\varepsilon)$$

Hence $\lim_{n,m\to\infty} p(x_n,x_m) = 0$, and $\{x_n\}$ converges to a point $z \in X$ such that

$$\lim_{n,m\to\infty}p(x_n,x_m)=\lim_{n\to\infty}p(z,x_n)=p(z,z)=0.$$

Now, for $\lambda \in [0, \frac{1}{2}]$ i.e. $1 - \lambda \in [\frac{1}{2}, 1]$, we obtain that $\lim_{n \to \infty} M(z, x_n) = p(fz, z)$. Since $M(z, x_n) \ge p(fz, z)$ for $n \in N$ and ϕ is u.s.r.f., we have

$$\limsup_{n \to \infty} \phi(M(z, x_n)) \le \phi(p(fz, z)) \tag{4}$$

by (4) and the condition that $p(fz,z) \le p(fz,x_n) + p(x_n,z)$, we obtain that

$$p(fz,z) \leq \limsup_{n \to \infty} (p(fz,x_n) + p(x_n,z))$$

=
$$\limsup_{n \to \infty} p(fz,fx_{n-1})$$

$$\leq \limsup_{n \to \infty} \phi(M(z,x_{n-1})) \leq \phi(p(fz,z))$$

Hence p(fz,z) = 0, i.e. z = fz. Thus z is a fixed point of f.

If there exists $z^* \in X$ such that $z^* = fz^*$, then we get

$$p(z,z^*) = p(fz,fz^*) \le \phi(M(z,z^*)) = \phi(p(z,z^*)),$$

therefore $p(z, z^*) = 0$, i.e. $z = z^*$. Thus z is unique fixed point of f and p(z, z) = 0. \Box

Secondly, we shall improve the Theorem 2.3 of M.Abbas[2] and obtain fixed point theorem for generalized cyclic contraction mapping in partial metric spaces.

Theorem 3.2 Let (X, p) be complete *PMS*, $A_1, A_2, ..., A_m$, *m* nonempty closed subsets of (X, p^s) and $Y = \bigcup_{i=1}^m A_i$ be a cyclic representation of *Y* w.r.t. *f*. If $\lambda \in [0, \frac{1}{2}]$, $\phi \in \Delta$, and $p(fx, fy) \le \phi(M(x, y))$, $\forall x \in A_i, y \in A_{i+1}, i = 1, 2, ..., m$

where $A_{m+1} = A_1$, and $M(x,y) = \max\{p(x,y), p(fx,x), p(fy,y), \lambda p(x,fy) + (1-\lambda)p(fx,y)\}$, then *f* has a unique fixed point $z \in \bigcap_{i=1}^{m} A_i \subset Y$. Proof First, let us construct $\{x_n\} \subset Y$. Assume that $x_0 = x$, $\forall x \in Y$, thus we obtain that $x_0 \in A_{i_0}$ for some i_0 . By definition 2.4, we claim that $fx_0 \in A_{i_0+1}$, and there exists $x_1 \in A_{i_0+1}$ such that $fx_0 = x_1$. Similarly, there exists $x_2 \in A_{i_0+2}$ such that $fx_1 = x_2$. By inductive method, for each $n \in \omega$, there exist $x_n \in A_{i_n}$ and $x_{n+1} \in A_{i_n+1}$, where $i_n \in \{1, 2, ..., m\}$, such that $fx_n = x_{n+1}$.

If $f^n x = f^{n+1}x$ for some $n \in \omega$, then $f^n x$ is a fixed point of f, and $f^n x$'s uniqueness follows as in the last part.

So, suppose that $f^n x \neq f^{n+1}x$, $\forall n \in \omega$.

First, by the proof of Theorem 3.1, we obtain that $\lim_{n\to\infty} p(x_n, x_{n+1}) = 0$.

Similarly, if $\{x_{n_k}\}$ is any subsequence of $\{x_n\}$, then we obtain that $\lim_{k \to \infty} p(x_{n_k}, x_{n_k+1}) = 0$, and $\lim_{k \to \infty} p(x_{n_k}, x_{n_k+i}) = 0$, $\forall i \in N$. (5)

Next, we shall prove that $\lim_{n,m\to\infty} p(x_n, x_m) = 0.$

Now, we can decompose $\{x_n\}$ into *m* subsequence $\{x_n^{(i)}\}, i = 1, 2, ..., m$, where $x_n^{(i)} \in A_i, \forall n \in \omega$. In order to prove that $\{x_n\}$ is Cauchy sequence in (Y, p) or (Y, p^s) by Lemma 2.3, we only need to prove that any $\{x_n^{(i)}\}$ is Cauchy sequence in (Y, p), i = 1, 2, ..., m.

W.l.g., let $x_0 \in A_m$ and $x_m \in A_m$. Next, we shall show that $\lim_{j,l\to\infty} p(x_j^{(m)}, x_l^{(m)}) = 0$. We define

$$\begin{split} r_{st}^{jlk} &= p(x_{j_{k}+s}^{(m)}, x_{l_{k}+t}^{(m)}), \quad r_{st}^{jk} = p(x_{j_{k}+s}^{(m)}, x_{j_{k}+t}^{(m)}), \quad r_{st}^{lk} = p(x_{l_{k}+s}^{(m)}, x_{l_{k}+t}^{(m)}), \\ r_{st}^{jlkh} &= p(x_{j_{k_{h}}+s}^{(m)}, x_{l_{k_{h}}+t}^{(m)}), \quad r_{st}^{jkh} = p(x_{j_{k_{h}}+s}^{(m)}, x_{j_{k_{h}}+t}^{(m)}), \quad r^{M} = M(x_{j_{k}}^{(m)}, x_{l_{k}-1}^{(m)}), \\ r^{Mh} &= M(x_{j_{k_{h}}}^{(m)}, x_{l_{k_{h}}-1}^{(m)}), \end{split}$$

where $s, t \in \{-m, -1, 0, 1\}$.

Now suppose the contradiction, thus for sequence $\{j_k\}, \{l_k\} \subset N$ with $l_k > j_k \ge k_0$, there exist $\varepsilon > 0$ such that

$$r_{00}^{jlk} \ge \varepsilon \text{ and } r_{0-1}^{jlk} < \varepsilon, \quad \forall k \in N$$
 (6)

Since (5) holds, then for any $k \in N$, by (6) we get

$$\varepsilon \le r_{00}^{jlk} \le r_{0-1}^{jlk} + r_{-10}^{lk} < \varepsilon + r_{-10}^{lk}$$

so

$$\lim_{k\to\infty}r_{00}^{jlk}=\varepsilon$$

and

$$\lim_{k\to\infty}\phi(r_{00}^{jlk})=\phi(\varepsilon)<\varepsilon$$

Now, we claim that $\{r^M\}$ has a subsequence $\{r^{Mh}\}$, and $\lim_{k\to\infty} r^{Mh} = \alpha$, where $\alpha \in [\frac{\varepsilon}{2}, \varepsilon]$ is a constant.

Indeed, since

$$\varepsilon \le r_{00}^{jlk} \le r_{01}^{jk} + r_{1-1}^{jlk} + r_{-10}^{lk}$$

so

$$\varepsilon \le \lim_{k \to \infty} r_{1-1}^{jlk} \tag{7}$$

Besides, for any $\varepsilon' \in (0, \varepsilon)$, there exists $k_{\varepsilon'} \in N$ such that for all $k \ge k_{\varepsilon'}$

$$r_{01}^{jk} < \varepsilon', \quad r_{-m-1}^{lk} < \varepsilon' \quad and \quad r_{-10}^{lk} < \varepsilon'.$$

Moreover, because $r_{0-1}^{jlk} < \varepsilon$, thus for $l_k > j_k \ge \min\{k_0, k_{\varepsilon'}\}$ we have

$$r_{00}^{jlk} \le r_{0-m}^{jlk} + r_{-m-1}^{lk} + r_{-10}^{lk} < \varepsilon + 2\varepsilon',$$
(8)

and

$$r_{1-1}^{jlk} \le r_{10}^{jk} + r_{0-m}^{jlk} + r_{-m-1}^{lk} < 2\varepsilon' + \varepsilon,$$
(9)

Hence by (7)(8)(9), for each $l_k > j_k \ge \min\{k_0, k_{\varepsilon'}\}$, we get

$$\begin{aligned} \frac{\varepsilon}{2} &\leq \lim_{k \to \infty} \frac{r_{1-1}^{jlk}}{2} \leq \lim_{k \to \infty} (1-\lambda) r_{1-1}^{jlk} \leq \lim_{k \to \infty} r^{M} \\ &= \lim_{k \to \infty} \max\{r_{0-1}^{jlk}, r_{10}^{jk}, r_{0-1}^{lk}, \lambda r_{00}^{jlk} + (1-\lambda) r_{1-1}^{jlk}\} \\ &< \max\{\varepsilon, \varepsilon', \varepsilon', \varepsilon + 2\varepsilon'\} \\ &= \varepsilon + 2\varepsilon'. \end{aligned}$$

Then, $\lim_{k\to\infty} r^{Mh} = \alpha \in [\frac{\varepsilon}{2}, \varepsilon]$, so

$$\lim_{k\to\infty}\phi(r^{Mh})=\phi(\alpha)<\alpha\leq\varepsilon.$$

Now, we choose $\beta \in (\phi(\alpha), \alpha)$. Hence there exists $h_{\beta} \in N$ such that $r_{01}^{jkh} < \beta - \phi(\alpha)$ for $h \ge h_{\beta}$, and for some $h \ge h_{\beta}$, we obtain that

$$r_{00}^{jlkh} \leq r_{01}^{jkh} + r_{10}^{jlkh} < \beta - \phi(\alpha) + \phi(r^{Mh}) < \alpha \leq \varepsilon,$$

i.e

$$r_{00}^{jlkh} < \varepsilon$$

which contradicts with $r_{00}^{jlk} \ge \varepsilon$, $\forall k \in N$.

By the proof above, we have that $\lim_{j,l\to\infty} p(x_j^{(m)}, x_l^{(m)}) = 0$, i.e. $\{x_n^{(m)}\}_{n\in\omega}$ is Cauchy sequence in (Y, p), and then $\{x_n^{(m)}\}_{n\in\omega}$ is Cauchy sequence in (Y, p^s) . In the similar way, any $\{x_n^{(i)}\}_{n\in\omega}, i = 1, 2, ..., m-1$, is Cauchy sequence in (Y, p^s) . Therefore $\{x_n\}_{n\in\omega}$ is Cauchy sequence in (Y, p) and (Y, p^s) .

Because *Y* is a closed set of (Y, p^s) , thus (Y, p^s) is a complete metric space. Then $\{x_n\}$ converges to a point $z \in Y$ in (Y, p^s) , by Lemma 2.3, we have

$$0 = p(z, z) = \lim_{n \to \infty} p(z, x_n) = \lim_{n, m \to \infty} p(x_n, x_m)$$

Note that $\{x_n\}$ has an infinite number of terms in A_i , i = 1, 2, ..., m. Therefore, in $A_i, i = 1, 2, ..., m$, we can construct a subsequence of $\{x_n\}$ that converges to z. Since any $A_i, i = 1, 2, ..., m$, is a closed subset, it is easy to conclude that $z \in \bigcap_{i=1}^m A_i$ and $\bigcap_{i=1}^m A_i \neq \emptyset$.

Now, let $Z = \bigcap_{i=1}^{m} A_i$. Since each $A_i, i = 1, 2, ..., m$, is a closed subset, then Z is also a closed set, and (Z, p) is complete *PMS*. Since $f|_Z$ satisfies all conditions of Theorem 3.1 and so $f|_Z$ has a unique fixed point in Z, where $f|_Z$ is a restrictive self-map on Z.

If there exists $v \in Y$ such that v = fv, then we have

$$p(z,v) = p(fz,fv) \le \phi(M(z,v)) = \phi(p(z,v))$$

which contradicts with $\phi(t) < t$ for t > 0. This concludes the proof.

394

Remark 2 If we take $\lambda = \frac{1}{2}$ in Theorem 3.1 and Theorem 3.2, then we shall obtain Theorem 3 [1] and Theorem 2.3 [2], respectively.

Remark 3 If we take $\lambda = \frac{1}{2}$ and take $\phi(t) = kt$ for $k \in [0, 1)$ in Theorem 3.2, then we shall obtain corollary 2.5 [2]

Part 2. Fixed point theorem for generalized φ -weak contraction in partial metric spaces

In this part, we shall extend the Theorem 5 of T.Abdeljiawad [5] and establish the common fixed point result of four self-maps which use generalized φ -weak contractions in partial metric spaces.

Theorem 3.3 If (X, p) is complete *PMS*, and $f, g, h, q : X \to X$ satisfy: $\lambda \in [0, \frac{1}{2}] \varphi \in \Theta$, $fX \subseteq qX, gX \subseteq hX$ and for any $x, y \in X$,

$$p(fx,gy) \le M(x,y) - \varphi(M(x,y)), \tag{10}$$

where $M(x,y) = \max\{p(hx,qy), p(fx,hx), p(gy,qy), \lambda p(hx,gy) + (1-\lambda)p(fx,qy)\}.$

If anyone of the subsets fX, gX, hX or qX is closed subset of (X, p), then $\{f, h\}, \{g, q\}$ have both a point of coincidence.

Besides, if $\{f,h\}$, $\{g,q\}$ are weakly compatible, then the maps f,g,h and q have a unique common fixed point in X.

Proof First, let us construct $\{y_n\}$, $\{x_n\} \subset X$. Assume that $\forall y_0 \in X$ and $x_0 = fy_0$. Because $fX \subseteq qX$, thus let $y_1 \in X$ such that $x_0 = fy_0 = qy_1$. In the similar way, we assume that $x_1 = gy_1$, and let $y_2 \in X$ such that $x_1 = gy_1 = hy_2$. By inductive method, we have that

$$x_{2n} = fy_{2n} = qy_{2n+1}$$
 and $x_{2n+1} = gy_{2n+1} = hy_{2n+2}$, $\forall n \in N$.

Next, we shall prove that $\lim_{n\to\infty} p(x_n, x_{n+1}) = 0.$

Indeed, by using (10) we get

$$p(x_{2n}, x_{2n+1}) = p(fy_{2n}, gy_{2n+1}) \le M(y_{2n}, y_{2n+1}) - \varphi(M(y_{2n}, y_{2n+1})), \ \forall n \in \mathbb{N}$$
(11)

where $M(y_{2n}, y_{2n+1}) = \max\{r_{-10}^{2n}, r_{10}^{2n}, \lambda r_{-11}^{2n} + (1-\lambda)r_{00}^{2n}\}$, and $r_{ij}^{2n} = p(x_{2n+i}, x_{2n+j})$, $i, j \in \{-1, 0, 1\}$.

(A) if $M(y_{2n}, y_{2n+1}) = r_{-10}^{2n}$, then by (11) we have

$$r_{01}^{2n} \le r_{-10}^{2n} - \varphi(r_{-10}^{2n}) \le r_{-10}^{2n}$$

(*B*) if
$$M(y_{2n}, y_{2n+1}) = r_{10}^{2n}$$
, then by (11) we have

$$r_{01}^{2n} \le r_{10}^{2n} - \varphi(r_{10}^{2n})$$

hence $\varphi(r_{10}^{2n}) \le 0$, $r_{01}^{2n} = 0$ and $x_{2n} = x_{2n+1}$. (C) if $M(y_{2n}, y_{2n+1}) = \lambda r_{-11}^{2n} + (1 - \lambda) r_{00}^{2n}$, then

$$\begin{aligned} r_{01}^{2n} &\leq M(y_{2n}, y_{2n+1}) \\ &= \lambda(r_{-11}^{2n} + r_{00}^{2n}) + (1 - 2\lambda)r_{00}^{2n} \\ &\leq \lambda(r_{-10}^{2n} + r_{01}^{2n}) + (1 - 2\lambda)r_{01}^{2n} \end{aligned}$$

i.e. $r_{01}^{2n} \le r_{-10}^{2n}$.

Then by above (A)(B)(C), we obtain

$$p(x_{2n}, x_{2n+1}) \le p(x_{2n-1}, x_{2n}), \ \forall n \in N.$$

Analogously,

$$p(x_{2n-1}, x_{2n}) \le p(x_{2n-2}, x_{2n-1}), \ \forall n \in N.$$

Therefore we claim that $p(x_n, x_{n+1}) \le p(x_{n-1}, x_n)$, $\forall n \in N$, and $\lim_{n \to \infty} p(x_n, x_{n+1}) = r_0$, where $r_0 \ge 0$ is a constant.

396

Now, we assume that n is an even, and by using (11) and taking limit of the inequality:

$$p(x_n, x_{n+1}) = p(fy_n, gy_{n+1}) \le M(y_n, y_{n+1})$$

$$= \max\{r_{0-1}^n, r_{01}^n, \lambda r_{-11}^n + (1-\lambda)r_{00}^n\}$$

$$\le \max\{r_{0-1}^n, r_{01}^n, \lambda (r_{-10}^n + r_{01}^n - r_{00}^n) + (1-\lambda)r_{00}^n\}$$

$$= \max\{r_{0-1}^n, r_{01}^n, \lambda (r_{-10}^n + r_{01}^n) + (1-2\lambda)r_{00}^n\}$$

$$\le \max\{r_{0-1}^n, r_{01}^n, \lambda (r_{-10}^n + r_{01}^n) + (1-2\lambda)r_{01}^n\}$$

where $r_{ij}^n = p(x_{n+i}, x_{n+j}), i, j \in \{-1, 0, 1\}$, so we get

$$\lim_{n\to\infty} p(x_n, x_{n+1}) = \lim_{n\to\infty} M(y_n, y_{n+1}) = r_0.$$

Because $\varphi \in \Theta$, so

$$\varphi(r_0) \leq \liminf_{n \to \infty} \varphi(M(y_n, y_{n+1}))$$

Now by taking upper limits as $n \to \infty$ for the following inequality:

$$p(x_n, x_{n+1}) \leq M(y_n, y_{n+1}) - \varphi(M(y_n, y_{n+1})),$$

so, we get

$$r_0 \le r_0 - \liminf_{n \to \infty} \varphi(M(y_n, y_{n+1})) \le r_0 - \varphi(r_0)$$

i.e. $\varphi(r_0) \leq 0$, then $r_0 = 0$ and $\lim_{n \to \infty} p(x_n, x_{n+1}) = 0$.

Now, let us prove that $\lim_{n,m\to\infty} p(x_n,x_m) = 0.$

Clearly, we need only to prove that $\lim_{n,m\to\infty} p(x_{2n}, x_{2m}) = 0$. Now suppose the contradiction, thus there exist $\varepsilon > 0$, $k_0 \in N$ and two sequence $\{2n_k\}, \{2m_k\}$ in N with $n_k > m_k \ge k_0$ $(k \in N)$ such that

$$p(x_{2n_k}, x_{2m_k}) > \varepsilon \tag{(*)}$$

(12)

where for $k \in N$, we shall denote $2n_k$ the smallest even integer outdoing $2m_k$ such that (*) holds. Hence $p(x_{2n_k-2}, x_{2m_k}) \leq \varepsilon$ and $\varphi(\varepsilon) > 0$ for $\varepsilon > 0$. Since

$$\varepsilon$$
 < $p(x_{2n_k}, x_{2m_k}) \le p(x_{2m_k}, x_{2n_k-2}) + p(x_{2n_k-2}, x_{2n_k})$
 $\le \varepsilon + p(x_{2n_k-2}, x_{2n_k})$

therefore by (12) and definition 2.1, we obtain that $\lim_{k \to \infty} p(x_{2n_k}, x_{2m_k}) = \varepsilon$. (13)

Similarly, letting $r_{ij}^0 = p(x_{2n_k+i}, x_{2m_k+j}), r_{ij}^1 = p(x_{2n_k+i}, x_{2n_k+j}), r_{ij}^2 = p(x_{2m_k+i}, x_{2m_k+j}), i, j \in \{0, 1, 2\}$, we get

$$\begin{aligned} |r_{10}^0 - r_{00}^0| &\leq r_{01}^1, \quad |r_{10}^0 - r_{11}^0| \leq r_{01}^2 \\ |r_{11}^0 - r_{21}^0| &\leq r_{12}^1, \quad |r_{20}^0 - r_{21}^0| \leq r_{01}^2 \end{aligned}$$

so by (12)(13), we get

$$\lim_{k \to \infty} p(x_{2m_k}, x_{2n_k+1}) = \varepsilon, \quad \lim_{k \to \infty} p(x_{2m_k+1}, x_{2n_k+1}) = \varepsilon$$
$$\lim_{k \to \infty} p(x_{2m_k+1}, x_{2n_k+2}) = \varepsilon, \quad \lim_{k \to \infty} p(x_{2m_k}, x_{2n_k+2}) = \varepsilon$$
(14)

Then, by (14) we have that $\lim_{k \to \infty} M(y_{2n_k+2}, y_{2m_k+1}) = \varepsilon.$ (15) So by (10), we have

$$p(x_{2n_k+2}, x_{2m_k+1}) = p(fy_{2n_k+2}, gy_{2m_k+1}) \le M(y_{2n_k+2}, y_{2m_k+1}) - \varphi(M(y_{2n_k+2}, y_{2m_k+1}))$$

i.e.

$$\varphi(M(y_{2n_k+2}, y_{2m_k+1})) \le M(y_{2n_k+2}, y_{2m_k+1}) - p(x_{2n_k+2}, x_{2m_k+1})$$
(16)

Hence, by (14)(15), the condition that $\varphi \in \Theta$, and letting $k \to \infty$ in (16) we get

$$\varphi(\varepsilon) \le \liminf_{k \to \infty} \varphi(M(y_{2n_k+2}, y_{2m_k+1})) \le \lim_{k \to \infty} [M(y_{2n_k+2}, y_{2m_k+1}) - p(x_{2n_k+2}, x_{2m_k+1})] = 0$$

which is contradictive with the assumption. Therefore, $\lim_{n,m\to\infty} p(x_n, x_m) = 0$.

Next, we assume that h(X) is closed subset of complete *PMS*, thus $\{x_n\}$ converges to a point $z_0 \in h(X)$. Then we get

$$\lim_{n,m\to\infty} p(x_n, x_m) = \lim_{n\to\infty} p(x_n, z_0) = p(z_0, z_0) = 0$$

Now, let $z_1 \in X$ such that $h(z_1) = z_0$. Then we obtain that $\lim_{n \to \infty} M(z_1, y_{2n+1}) = p(fz_1, z_0)$.

398

Because $\varphi \in \Theta$, we have

$$\varphi(p(fz_1,z_0)) \leq \liminf_{n \to \infty} \varphi(M(z_1,y_{2n+1}))$$

moreover, by taking upper limits as $n \rightarrow \infty$ for the following inequality:

$$p(fz_1, x_{2n+1}) = p(fz_1), gy_{2n+1}) \le M(z_1, y_{2n+1}) - \varphi(M(z_1, y_{2n+1}))$$

so, we obtain that

$$p(fz_1, z_0) \le p(fz_1, z_0) - \liminf_{n \to \infty} \varphi(M(z_1, y_{2n+1})) \le p(fz_1, z_0) - \varphi(p(fz_1, z_0))$$

hence $\varphi(p(fz_1, z_0)) \le 0$, $p(fz_1, z_0) = 0$ and $z_0 = fz_1 = hz_1$.

Since $fX \subseteq qX$, then let $z_2 \in X$ such that $z_0 = fz_1 = qz_2$.

Because $M(z_1, z_2) = p(gz_2, z_0)$, and

$$p(z_0, gz_2) = p(fz_1, gz_2) \le M(z_1, z_2) - \varphi(M(z_1, z_2)) = p(gz_2, z_0) - \varphi(p(gz_2, z_0))$$

hence $\varphi(p(gz_2, z_0)) \le 0$, $p(gz_2, z_0) = 0$ and $z_0 = gz_2 = qz_2$.

By the proof above, we conclude that $fz_1 = hz_1 = z_0 = gz_2 = qz_2$.

Next, if $\{f,h\}$, $\{g,q\}$ are weakly compatible, thus

$$fz_0 = hz_0, \qquad gz_0 = qz_0$$

Since $M(z_0, z_2) = p(fz_0, z_0)$, then by (2.3.1), we get

$$p(f(z_0), z_0) \le M(z_0, z_2) - \varphi(M(z_0, z_2)) = p(fz_0, z_0) - \varphi(p(fz_0, z_0))$$

hence $\varphi(p(fz_0, z_0)) \le 0$, $z_0 = fz_0 = hz_0$. Similarly, we obtain that $z_0 = gz_0 = qz_0$. Thus z_0 is a common fixed point of f, g, h, q.

Finally, let us complete the proveness of the uniqueness. If z = fz = gz = hz = qz, $z \in X$, then we have

$$p(fz_0,gz) \le M(z_0,z) - \varphi(M(z_0,z)) = p(z_0,z) - \varphi(p(z_0,z)),$$

i.e $\varphi(p(z_0, z)) \le 0$. Hence $p(z_0, z) = 0$ and $z_0 = z$.

RUIDONG WANG, CHAO MA

Remark 4 In Theorem 3.3, there are conditions: (*i*) *h* and *v* are both identity maps and (*ii*) f = g. If (*i*) or (*i*)(*ii*) holds, we shall establish relevant fixed point theorems of two mappings or only one mapping, respectively.

Conflict of Interests

The authors declare that there is no conflict of interests.

Acknowledgements

The authors are supported by the Natural Science Foundation of China (Grant Nos. 11371201, 11201337, 11201338, 11301384).

REFERENCES

- S. Romaguera. Fixed point theroems for generalized contractions on partial metric spaces. Topology Appl. 159(2012), 194-199.
- [2] M. Abbas, T. Nazir, S. Romaguera. Fixed point results for generalized cyclic contraction mappings in partial metric spaces. Rev. R. Acad. Cienc. Exactas Fs. Nat., Ser. A Mat., RACSAM, 106(2)(2012), 287–297.
- [3] M. Păcurar, I. A. Rus, Fixed point theory for cyclic φ-contractions. Nonlinear Anal., TMA 72(2010), 1181-1187.
- [4] D.M. Erhan, E.Karapinar, and D. Turkoglu. Different types Meir-Keeler contractions on partial metric spaces, J. Comput. Anal. Appl 14(2012), 1000-1005.
- [5] T. Abdeljiawad, E. Karapinar, and K. Taş. Existence and uniqueness of a common fixed point on partial metric spaces, Appl. Math. Lett. 24(2011), 1900-1904.
- [6] M. Akkouchi. Common fixed points of four maps using generalized weak contractivity and well-posedness, Int. J. Nonlinear Anal. Appl. 2(2011), 73-81.
- [7] S. G. Matthews. Partial metric topology, Dept. of Computer Science, University of Warwick, Research Report 212 (1992).
- [8] Yi Zhang and Jiang Zhu. A new nonlinear contraction principle in partial metric spaces, J. Funct. Spaces, 2016(2016), Article ID 8404529.
- [9] W.A. Kirk, P.S. Srinivasan and P. Veeramany. Fixed points for mappings satisfying cyclical contractive conditions, Fixed Point Theory, 4(2003), 79-89.
- [10] R. P Agawal, M. A Alghamdi and N. Shahzad. Fixed point theory for cyclic generalized contractions in partial metric spaces, Fixed Point Theory Appl. 2012(2012), Article ID 40.

- [11] L.N. Mishra, S.K. Tiwari, V.N. Mishra and I.A. Khan. Unique fixed point theorems for generalized contractive mappings in partial metric spaces, J. Funct. Spaces, 2015(2015), Article ID 960827.
- [12] Z. Qingnian and S. Yisheng. Fixed point theory for generalized φ -weak contractions, Appl. Math. Lett. 22(2009), 75-78